3GPP TSG RAN WG2 Meeting #AH           


             
 

















R2- 1809764
Montreal, Canada, 2nd – 6th July 2018










Agenda item:

10.4.1.4.1
Source:
Intel Corporation 
Title:
Clarification on unique cell ID for NR
Document for:

Discussion and Decision
1      Introduction
In LTE, unique cell ID is identified by frequency and physical cell ID because physical cell ID can be reused due to the limited number of them. In NR, the concept of “frequency” is removed from the RAN2 specification. This contribution is to discuss how the UE should identify unique cell ID in NR.  
2      Discussion
Based on the latest agreed CR on 38.331, we find the following related procedure text related to cell ID:
Section 5.3.5.5.2 on Reconfiguration with sync

The UE shall perform the following actions to execute a reconfiguration with sync.

1>
stop timer T310 for the corresponding SpCell, if running;

1>
start timer T304 for the corresponding SpCell with the timer value set to t304, as included in the reconfigurationWithSync;

1>
if the frequencyInfoDL is included:

2>
consider the target SpCell to be one on the frequency indicated by the frequencyInfoDL with a physical cell identity indicated by the physCellId;

1>
else:

2>
consider the target SpCell to be one on the frequency of the source SpCell with a physical cell identity indicated by the physCellId;
In frequencyInfoDL, there are two “frequency”, one is SSB frequency indicated by the absoluteFrequencySSB and the other is the CSI-RS reference point A indicated by the absoluteFrequencyPointA. In our view, since SpCell are always carried SSB, therefore, frequency in this context should refer to SSB frequency.

Proposal 1: in reconfiguration with sync, “frequency” refers to SSB frequency.
When a cell has SSB, Cell ID can be determine by SSBfrequency + PCI. When a cell doesn’t have SSB (e.g. SCell), how to determine Cell ID in that case? So far we didn’t find any operation required to identify SCell ID uniquely. If there is no procedure the UE is required to determine the uniqueness of the cell ID in SSBless case, maybe RAN2 doesn’t need to specify it.
Proposal 2: RAN2 doesn’t need to clarify the definition of “frequency” for serving cells without SSB. 
3      Conclusion 
Proposal 1: in reconfiguration with sync, “frequency” refers to SSB frequency.

Proposal 2: RAN2 doesn’t need to clarify the definition of “frequency” for serving cells without SSB. 
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